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SUBJECT — ENGLISH M.M. -20

Q1. Fill in the blanks :

a) Sheela ran so fast ___ she was late to her class.

b) The books were on the table ___ 1 didn’t notice them.

c) The grapes ___ oranges are in the basket.

d) You could use a pen ___ a pencil.

e) The cars were so close to each other ___ there were lots of space in the
parking area.

Q2. Fill in the blanks with prepositions in the following sentences:

a) You must reach there ___ weekend.
b) The robbers entered the house ___ the night.
c) The exhibition will be opened ___ 10 am __ Friday.

d) The interested candidates should report for interview latest ___ 3 June
2007.
e) He came to my house ___ my absence.

Q3. You visited an orphanage. Write a diary entry for the same.
Q4. Write a notice about silver jubilee celebrations to be held in the school.

SUBJECT — MATHS M.M. - 20

Q1. 1000 LPG cylinder are filled in a refinery in 2 hours. How many

cylinders will be filled in 5 hours?

Q2. 40 potatoes in a bag weigh 5kg. If the size of the potatoes is the

same, how many potatoes will a bag weighing 2 kg contain?

Q3. 2 kg of sugar contains 200 sugar cubes. How many cube will we

get in 8 kg of sugar?

Q4. A farmer has enough fodder to feed his 20 cows for 30 days. If he

Q5.

buys 4 more cows, how long will he be able to feed the animals?
If 6 gardeners can mow a lawn in 12 days, how many gardeners
will be needed to mow it in 2 days?

SUBJECT - SCIENCE M.M. - 20

Q1. Why are hormones called chemical messengers? Which are the

hormones that play a major role in reproduction? How?

Q2. Why do we need to conserve wildlife? Mention any two reasons.
Q3. What are the sources of noise pollution? List the harmful effects and

the steps to prevent noise pollution.

Q4. Many people living near airport or traffic junctions suffer from

hypertension. Why?



Q5. Differentiate between the following-
a) Unisexual and bisexual animals
b) Sexual reproduction and asexual reproduction
c) Embryo and foetus
SUBJECT — SOCIAL SCIENCE M.M. -20

Q1 Who were the Harijans?

Q2 Why did the British encourage caste division in the Indian society?
Q3 Give some examples of the pastoral based industries.

Q4 List the main factors influencing the location of an industry.

Q5 What is the role of a defence lawyer.
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